Msc  Hypothesis Testing

Q1. A recruitment company believes that the average salary earned by each placements is £18,000. However after discussing this with other recruitment companies in their industry they are no longer sure whether their original hypothesis is correct.
Using the following random sample from their records identify whether they are correct in their original hypothesis.

	Salary £000
	f

	
	
	

	9000
	< 12000
	2

	12000
	< 15000
	5

	15000
	< 18000
	27

	18000
	< 21000
	32

	21000
	< 24000
	2

	24000
	< 30000
	1


Table 1: Random sample of salaries 

Q2. Using the following data identify whether the sales representative sampled is making more than 4 phone calls per hour. 
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Table 2: A sample of the number of phone calls 

Q3. A shipping manager, Valerie Singleton, has measured a sample (one that she prepared earlier) of duty documents processed by her office. Valerie found that on average these documents were processed 16.3 days after they were originally initiated.  Using this information she believes that it is safe to say that on average it takes her office 16.3 days to process a customs document. Comment on her analysis.

Q4. A match manufacturer produces boxes of matches for a large supermarket group. On average there are 42 matches in a box. Production has a standard deviation of 1 match.  After receiving complaints concerning shortfalls in their boxes they have taken a sample and found that the average number of matches in a box was 37. Comment on these findings.  

